D 1571 Q.P. Code : [D 07 PMC 01]

(For t}}e candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010.
First fear
Commerce
CORPORATE ACCOUNTING
Tinte o/ ire¢ hours Maximum : 100 marks

Answer any FIVE questions.

Each question carries 20 marks.
(6 x 20 = 100)

1.  Star Ltd was incorporated on lst July, 1998 to
acquire a running business with effect from 1st’
April, 1998. The accounts for the year ended 31st
March, 1999 disclosed the following :

(a) There was a gross profit of Ra. 3,00,000,

(b) The sales for the year amounted to
Rs. 12,00,000 of which Rs. 2,40,000 were for
the first six months.



(¢) The expenses debited to the Profit and Loss
Account included - directors’ fees
Rs. 15,000: bad debts: Rs 3,600; advertising:
Rs. 12,000 (under a contract amounting to
Rs. 1,000 per month); salaries and general
expenses : Rs. 64,000; preliminary expenses
written off Rs. 5,000 and donation to a
political party given by the company
Rs. 5,000.

Prepare a statement showing the amount of
profit made before and after incorporation.

The Alfa Manufacturing Company Limited was
registered with a nominal capital of Rs. 60,00,000
in Equity Shares of Rs, 10 each. The following is
the list of balances extracted from its books cn

31st March 1999 :

RE.
Calls in arrear 75,000
Premises : 30,00,000
Plant and Machinery 33,00,000
Interim dividend paid on
1st November 1998 3,92,500
2 D 1571

Stock, 1st April, 1998
Fixtures

Sundry Dehtirs
Goodwill

(“ysh in hand

Csash at Bank
Purchases
Preliminary Expenses
Wages

General Expenses
Freight and Carriage
Salaries

Directors’ Fees

Bad Debts

Debenture Interest paid

3

Rs.
7,50,000
72,000
8,70,000
2,50,000
7,500
3,99,000
18,50,000
50,000
8,48,650
68,350
1,31,150
1,45,000
57,250
21,100

1,80,000
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Rs.
Share Capital 40,00,000
12% Debentures 30,00,000
Profit and Loss account 2.62,500
Bills Payable 3,70,000
Sundry Creditors 4,00,000
Sales 41,50,000
General Reserve 2,50,000
Bad debts provision 35,000

1st April 1998

Prepare Trading and Profit and Loss Awcourt and
Balance sheet in proper form aftel~making the
following adjustments :

(a) Depreciate Plant and Machinery by 15%

(b) Write off Rs. 5,000 from Preliminary
Expense.

(¢) Provide for half vears debentur:a interest
due,
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(d) Leave bad and doubtful debts provision at
5% on Sundry Debtors.

(e) Provide for Income Tax @ 50%.
() Stock on 31st March, 1999 was Rs. 9,50,000

The following is the'lalance Sheet of X Co. Ltd. as
on 30th June, 1490,

Ras. Ra.

Sharroapiter: Goodwill 35,000
2000 shares of Land and building 85,000

Rs. 100 each 2,00,000 Plant and machinery  1,60,000
Reserves 20,000 Stock 55,000
5% debentures 1,00,000 Sundry debtors 65,000
Loan from A (a director) 40,000 Cash at bank 34,000
Sundry creditors __80,000 Discount on debentures 6,000

The business of the company is taken over by
Y Co. Ltd. as on that date on the following terms :

(a) ‘Y Co. to take over all assets except cash, to
value the assets at book values less 10%
' 5 D 1571



except goodwill which is to be valued at
4 years purchase of the excess of average

(5 years) profits over 8% of the combined Liaghilities H Ltd.. 5 Ltd.

amount of share capital and reserves. Rs. Rs.
(b) Y Co. Ltd. to take over trade liabilities at a Reserve 1,00,000 60,000

dlSCDunt ﬂ‘f 5%. | Greditors 21(}{].&&{} 1,2{}|ﬂﬂ'ﬂ'
(¢0 The purchase consideration was to be . " Bills payable 30,000

discharged in cash to the extent of

Rs. 1,50,000 and the balance in filly paid 17,00,000 58,009

equity shares of Rs. 10 each valued at Assets g

Rs. 12.50 per share. The average of the 5 Suildry Kssets £.00,000 1.20,000

years profits was Rs. 30,100. The expenses of 2

absorption Rs. 4,000 were paid by X Co. Ltd. Slock 6,10,000 2,40,000

but afterwards reimbursed by Y Co. Ltd. Debtors 1,30,000 1,70,000

Bills receivable 10,000

Prepare necessary ledger accounts to sloue
the books of X Co. Ltd. Shares in S 15,000 at cost 1,50,000

17,00,000 5,30,000

4. From the Balance Sheets and informstion given

below, prepare Consolidated Balince Sheet.
(a) All the profit of S has been earned since the

Liabilities S\Med.. S Ltd.
Rs Rs shares were acquired by H but there was
: 1 . already Reserve of Rs. 60,000 at that date.
Share capital : ;
Rs. 10 each fully paid 10,00,000 2,00,000 (b) The bills accepted by 8 Rs. 10,000 are in
Profit and loss account 4,00,000  1,20,000 favor of H.
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(¢) Sundry assets of S are undervalued by
Ra. 20,000

(d) 'The Stock of H includes Rs. 50,000 bought
from S at a profit to the latter of 25% on cost.

5. The following is given

Balance sheet of Anand Ltd. on March 31, 1999

Liabilities Rs. Assets Rs.

Share capital : Land and building  1,00,000
2,000 14% p. share of Rs. 100 2,00,000 Machinery and plant 2,50,000
1,000 equity shares of Rs, 100 Patents 40,000
each Ra. 75 paid 75,000 Stock at cost 56,000
3,000 equity shares of Ra. 100 Sundry debtors 1,157000
each Rs. 60 paid 1,80,000 Cash at bank 75,600
14% debentures having a Profit and losa ale §3,500
floating charges on all assets 1,00,000

Interest outstanding 14,009

Creditors 1,45,000

7,14,000 7,114,000

The company went into liquidation on the above
date.
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The preference dividends were in arrear for two
years. The arrears are payable automatically on
liquidation. Creditors include a loan for Rs. 50,000
on the mortgage of land and Building. The assets
were realised as follows :

Rs.

Land and'buildings  1,20,000

Nachinery and plant 2,00,000

Patents 30,000
Stock 60,000
Sundry debtors 80,000

The expenses of liquidation amounted to
Rs. 10,900. The ligquidator is entitled to a
commission of 3 percent on all assets realized
except cash and a commission of 2 percent on
amounts distributed among unsecured creditors.
Preferential creditors amount to Rs. 15,000
Assume the payment was made on September, 30,
1999. Prepare the Liquidator's statement of

account.
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6.

The following are the figures extracted from the
books of Sukla Bank Ltd. as on 31.03.2005 (all

figures in rupees)

Ras.
Interest and discount received 20,30,000
Interest paid on deposits 12,02,000
Issued and subscribed capital 5,00,000
Reserves under Section 17 3,650,000

Commission, exchange and brokerage 90,000

Rent received 30,000
Profit on sale of investment 95,000
Salaries and allowances 1,05,000
Directors' fees and allowance 12,000

T ™ 179

Rent and taxes paid 54,000
Stationery and printing 12,000
Postage and telegram 25,000
Otherenpenes 12,000
Audit fees 4,000
Depreciation on bank's properties . 12,500

Other information :

(a) Provision for bad and doubtful debts

(b)

©

necessary Rs. 2,00,000

Rebate on bills discounted as on 31.03.2005,
Rs. 7,500

Provide Rs. 3,50,000 for income tax

The director desire to declare 10% dividend
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Make the necessary assumptions and prepare the
profit and loss account in accordance with the law.,

From the following details, prepare the Revenue
alc, Profit and Loss a/c and Balance sheet of Max
Insurance Co., Ltd. carrying on Marine Insurance
business, for the 15 months ended 31,3.2006 :

Agents balance (dr.)

Interest acerued but not due
Furniture & fixtures (cost Rs. 12,600)
Stock of stationery

Expenses of management

Foreign taxes & Insurance
Qutstanding premium

Donations paid

Advance income tax payments
Sundry debtors

Govt. of India securities
12

Rs. '000
1,46,400
8,200
8,400
2,500
2.40,000
12,300
21,200
8,600
62,000
9,200

9,20,000
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Debenture of public bodies
Shares in limited companies
State govt. securities
Claims less re iisurance
Commis&ion paid
Sash % Bank balance
Share capital
Balance of marine fund
(1.4.05)
Unclaimed dividends
P& L alc (Cr.)
Sundry creditors
Due to reinsurers
Premium less

reinsurance

13

Rs. '000
1,80,000
3,60,000
8,80,000
10,60,000
62,400
94,400

15,00,000

7,60,000
2,400
2,40,000
12,600

60,000

12,40,000
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Rs.
Interest and dividends 2,40,000

Transfer fees received 600

Qutstanding claims on 3 1.3.06 were Rs. 1,40,000
thousands. Depreciation on furniture to be
provided at 20% per annum.

Write a noteon :
(a) Inflation accounting methods:
(b) Responsibility accounting.

S

Q-
o

14 D 1571

‘\68



Reg. No.:
Q.P. Code : [D 07 PMC 02]

D 1572
(For the candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010,
First Year
Commerce
MARKETING MANAGEMENT

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marka

1. Define “Marketing Ma.nagement
importance of marketing managem

escribe the
ew product.

2. What is new product davalo
steps to be taken in introd

3.  Define “Pricing”. Ex@any six kinds of pricing.

4, State the meaning of marketing channel. What
according to you are the factors influencing
marketing channe|?

w@

Do you find any scope for eliminating middlemen
in the marketing of Fast Moving Consumer

Goods?

Define “Sales promotion”, Discuss any four of the
major sales promotion programmes.

What are the essentials of salesmanship? Explain.

Define “advert @uw does advertising differs
from pubh 6
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RegriNG: 5 i
D 1573 . Q.P. Code : [D 07 PMC 03]

(For the candidates admitted from 2007 onwards)
M.Com, DEGREE EXAMINATION, DECEMBER 2010.
First Year
Part I1I] — Commerce
INFORMATION TECHNOLOGY IN BUSINESS
Time : Three houra Maximum : 100 marks
Answer any FIVE questions.
All guestions carry equal marks.

(5 = 20N10Q)

1. What does Data processing, storage-and \sétrieval
mean? Explain with suitable exampl¢s

2.  Examine the applicati¢gn; ¥ of Information
Technology in the field af bitsiness.
3. Explain
(a) Analog
(b) Digital and
(¢) Hybrid Computers.

Describe the steps in developing a computer
program.

What does ‘Networking' mean? Explain its
different types.

Explain the functions of any four output devices
with examples.

Describe thé furctions, merits and limitations of
Machine J.anguage and Assembly Language.

Bafine” ‘E-mail’. Explain its working. State its
merits and limitations.
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Reg. No. :

D 1574 Q.P. Code : [D 07 PMC 04]

(For the candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010.
Piret Year
Commerce

COSNAND MANAGEMENT ACCOUNTING

Tithe  Three hours Maximum ; 100 marks

Answer any FIVE questions.
(5 x 20 = 100 marks)

All questions carry equal marks.

1.  Discuss the features of a good costing system.

2. What is labour turnover? What are its causes?

Indicate the steps which may reduce labour
turnover.

3. What is meant by cost volume profit analysis?

Explain the advantages of such analysis.



A factory manufactures three products X, Y and Z,
which emerge from a joint process. Joint
processing cost amount to Rs. 1,56,000.
The output of X, Y and Z was 30,000, 33,000 and
19,500 units respectively. Apportion the joint costs
among the products under the survey method. The
joint products are weighted as follows:

X - 3 points; Y - 2 points; Z - 4 pointa.
Explain the merits and demerits of Job Costing.

Raj Corporation Ltd. has prepared the following
budget estimates for the year 1999-2000.

Ra.
Sales(units) 15,000
Fixed expenses 34,000
Sales X 1,530,000
Variable costs Ha.6 per unit

You are required to

(a) Find the P/v ratio, break-even point and
margin of safety.
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(b) Calculate the revised P/v ratio, break even
point and margin of safety in each of the
following cases:

(i) Decrease of 10% in selling price.

(it} Inerease of 10% in variable costs.

(iii) Increase of @ales volume by 2000 units.
(iv) Incres@®ofKs.6,000 in fixed costs

From thefollowing particulars prepare a cash
budget Tolthie month June 2008:

() \, Bxpected Sales:

Rs.
April 2008  2,00,000
May 2,20,000
June 1,90,000

Credit allowed to customers is two months and
50% of the sales of every month is on cash basis.

(b) Estimated purchases:

Ra.
May 2008 1,20,000
June 1,10,000

40% of the purchase of every month is on
cash basis and the balance is payable next

month.
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()
(d)

(e)
(£

(8)

Rs.2,000 is payable as rent every month.

Time Lag in payment of overhead is 1/2
menth,

Overhead for

Rs.
May 12,000
June 11,000

Depreciation for the year is Rs.12,000.

Interest receivable on investment during
June and December Rs.3,000 each.

Estimated cash balance as on 1-6-2008 is
Rs.42,500.

8. Following are the summarised balance sheets of
Five stone Ltd. as on 31st December 1998 zad
1999,

Linbilities 1998 1899 Asspts 1904 1699

Rs Ra ha Ra

Share Land

Capital 2,00,000 250,000 Blldide” 200000.  1,90,000

General 50,000 60,000 “Machinery 1,50,000 1,69,000

Reaserva

Profit & Stock 1,000,000 74,000

Loss Al 30,500 30,600

Bank Sundry B0, 000 64,200

Loan 70,000 »  debtors

(Long

term)
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Lighilitios

Sundry
croditors

Pravision
for
taxation

1998 1993 Assets 1958 1995

Ra Rs Ha Ra
Caah 500 GO
1,50.000 135,200
Bank - E000
30,000 35,000
A\, \Good will * 5000
5,30,500 =~ 5,1,800 5,30,500 5,10,200

Aaditional information supplied:
During the year ended 31st December 1999

(a)
(b)

()

(d)

(e)

Dividend of Rs.23,000 was paid.

Assets of another company were purchased
for a consideration of Rs.50,000 payable in

shares.

The following assets were purchased.
Machinery Rs.25,000

Stock RB.ZD,E!{]G

Machinery was further purchased for

Rs. 8,000

Depreciation written off against machinery
Rs. 12,000,

Income Tax paid during the year Rs.33,000.
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®

written off to general reserve.

You are required to prepare Funds Flow
Statement for the year 1999 and a schedule f
of changes in working capital.

Loss on sale of machinery Rs.200 was ‘
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Reg. No. :

D 1575 Q.P. Code : [D 07 PMC 05]

{For the candidates admitied from 2007 ﬂnf.-:rarda}
M.Com DEGREE EXAMINATION, DECEMBER 2010.
First Year
Commerce
HUMAN RESOURCE MANAGEMENT

Time : Three hours Maximum : 100 marks

Answer any FIVE questions
All questions carry equal marks
(5 x 20 = 100\marks}

1. Define the terms HRM and HRD>Explain the
functions of HRM.

2. Explain the significantesland implications of
Hawthorn Experimenit

3.  Discuss the process of personnel selection in an
organizational environment.

What do you mean by the term "Performance
Appraisal"? State the different methods of
performance Appraisal.

What do you mean by term 'Personality'? Explain
the determinants of personality.

State the needs for amployee motivation. Explain
briefly different tiedries of motivations.

Define the terpi"Employee Grievance and explain
the protess of grievances redressal mechanism.

iow/do organizational conflict emerges and how
could it be effectively managed?
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Reg. No. :

D 1580 Q.P. Code: [D 07 PMC 10]

(For the candidates admitted from 2007 cnwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010.
Second vear
Commerce
INTERNATIONAL BUSINESS

Time : Three hours Maximum : 100 marks
Answer any FIVE questions.
All questions carry equal marks.

1. What is International Business? Explaim, “its
nature and scope in developing countries.

2. Discuss the recent trends in Indifle~Dalance of
Payments position.

3. What are the function® o the World Bank?
Explain them.

4., What do you understand by Euro Currency
Market? Discuss its salient features.

What are trade barriers in the foreign market?
Explain them.

What are the various spurces of export market
information? Explain them.

Discuss the recent trends in compeosition and
direction of India's exports.

What is exchamge\ control? Explain the various
methods of “exckange control followed by the
Reserve-Banie-0f India.
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Reg. No. :
D 1577 Q.P. Code : [D 07 PMC 07]
(For the candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010.
Second Year
Commerce
FINANCIAL AND INVESTMENT MANAGEMENT

Time : Three hours Maximum ; 100 marks

Answer any FIVE questions.

All questions carry equal marks.
{5 » 20 & 190,

1. Both financial and investment decidiensvare risk-
return equation based. Discuss vrith“the referred

to equations.

2. Bring out the role «oi\JEBI in regulating the
primary market in India.

3.  Big and strong Indian firms have the opportunity
of raising capital globally and also swapping the
same with local finance if rates at home have
moved quite favourable, Discuss,

The returns on a security have the following
probability distribution:

Return (%)- R;: 12 14 16 18 20
Probability - B: 0.15 0.25 0.20 0.30 0.10

Compute return and risk.

Explain how do 30u, go about evaluating Capital
Lease and Outirght buying with leveraged capital
structure.,

Gira wi“account of Mutual funds available for
Crawith-seeking, Return-seeking, Tax Benefit
seeking and Diversity-seeking investors.

While AAA rated firm offers only less rate on its
bonds, a BBB firm offers higher rate. Why?

Bring out the differences between Venture Capital
(VC) and Conventional Capital and explain the
inroad made by the VC in India.
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Ieg:MNo, » osanmnG
D 1578 Q.P. Code : [D 07 PMC 08]

(For the candidates admitted from 2007 onwards)
%ﬂ"l iJEGREE EXAMINATION, DECEMBER 2010,
Second Year
Commerce
BUSINESS ENVIRONMENT
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks,

(6 = 20 %200/

1. Explain the macro environmental firsesinfluence
the business.

2.  E=xplain the Discuss thendifference between the
current Industrial policewind policy prior to 1991,

3. Digcuss the difference between private sector and
public sector.

4.  Describe the nature, scope and significance of
Capitalism.

Explain the ohjectives and funetions of IDBL

Explain the determinants of FDI and state the
India’s policy towards FDIL.

Explain the merits and demerits of Multinationa
Corporation.

Write note on:

(a) Patgnty

(b) (Prademarks

(e) % Mixed economy
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Reg. No.:
D 1576 Q.P. Code : [D 07 PMC 06]

(For the candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMINATION, DECEMBER 2010.
Second Year
Commerce
INTERNET AND E-COMMERCE
Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

All questions carry equal marks.
(6 x 202 2)

1.  Explain the merits and limitations of fi-0grimerce.

2. Describe classification of the \EC“Tield by the -

nature of the transactions.

3. Explain the EC sudjorted Business Process
reengineering.

4.  Discuss the important features of Internet.

9.  Explain Objectives of supply chain.

Explain the barriers to Global EC.

What is wireless application software? Write the
different types of wireless devices.

Describe the major factors that could facilitate E-
Commerce in the future.
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D 1579 Q.P. Code : [D 07 PMC 09]

(For the candidates admitted from 2007 onwards)
M.Com. DEGREE EXAMIMATION, DECEMBER 2010.

Seond Year
Commerce
DIRECT TAXES

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks.

1. (a) Write the provisions related to determination
of residential status of an individual as per
the Income Tax Act.

{(b) Describe any ten exempted incomes under
section 10 of the Income Tax Act.

2. Calculate income from salary of Mr. Ravivarma
who is employed in a private company in Mumbai
from the following particulars given by him.



Rs.

:
. " 6@:}1@1 rent

Basic salary 6,000 p.m.
DA (Rs. 3,000 pm forms part of salary) 3,500 p.m.
Bonus 10,000
CCA 1,000 p.m.
Project allowance 500 p.m.
Medical allowance 100 p.m.
Family allowance 150 p.m.
Substitute allowance 200 p.m.
HRA (Rs. 1,500 p.m. paid as rent) 1,250 p.m.
Education allowance (for two children) 300 pm
Hostel allowance (for two children) 400 p.m
Academic research allowance (Rs. 5,000

actually spent) 300 p.m

Washing allowance (actual amount

o

Mr, Srivatsan owns a house, which consists of two
egual independent units. One is let out and the
other unit is self-occupied. The letout portion is
also self-occupied - for two months. The other
particulars are as follows :

(Q Rs.
Fair rental valu 24,000
Municipal I‘Eﬂtm 12,500
Actual we @fhe letout portion 1,000 per
& month
2,500
300
Interest on loan taken for construction 2,500

Determine income from house property.

spent Rs. 250 p.m.) 4
Daily allowance
He and his employer contri 1%9 of salary
towards RPF. Interest is credited on To
Rs. 1,00,000 towards r. Ravivarma has T
achieved a turnover . 2,650,000 to which he is 0
entitled to a commission of 1%. Rs. 3,500 LIC To
premium of Mr. Ravivarma’s spouse, Rs. 3,000
towards gas and electricity and Rs. 1,600 towards To
legal expenses of Mr. Ravivarma are paid by the To
employer. To
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From the following Profit and Loss Account,
calculate income from business.
Rs. Rs.
General expenses 20,000 By Gross profit  5,00,000
Bad debts 25,000 By Sundry
Advance receipt 50,000
income tax 24,000 By Bad debts
Salary to staff 40,000 recovered
Drawings 40,000 (ecarlier
Interest on own allowed as
capital 24,000 deduction) 12 500
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To Advertisement
expenses

Rs, Rs.
By Interest on
8,000 debenture

To Excise duty 12,000 (gross) 40,000
To Expenditure on By Interest on

acquisition of deposit

patent right (in with a

2005) 10,000 company
To Nat profit 4,23,500 (gross) 25,000

6,27,500 6,27,500

Other information :

(a)

(b)

fe)

(d)

(e}

General expenses includes Rs. 2,300 spent as
marriage expenses by the proprietor.

Advertisement expenses was spent on 21yt
August 2007,

Income of Rs. 12,000 accrued ouring the
previous year 2007-08 is.i it récorded in the
Profit and Loss Accoun™

An expenditure “&f "Rs. 1,000 relating ta
business is not shown in Profit and Loss

Account.

The proprietor owns two houses from which
he gets the income of Rs. 1,80,000.
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5.

Calculate income from other sources from the

following :

(a) Winning from lotteries (net amount)
Rs. 17,350.

(b}  Income from letting of building and furniture
Rs. 12,5600. Expenses towards repairs of
furniture B4\ 500 and depreciation towards
building. is.) 1,000. The assessee owns the
building.

(e) A\ Mi@idend declared by an Indian company
25, 8,000. Collection charges Rs. 100.

td}  Rs. 5,000 received as interest on Government
securities,

(e) Rs. 4,000 received as interest on debentures
of local authority.

(f)  Rs. 3,000 received as interest on debentures
from Abi Ltd. (non-listed)

(g) Interest on seven year Post Office NSC @ 7%

Rs. 10,000.

Mr. Gupta submits his gross total income for the
previous year as Rs. 7,50,000. He has contributed
for the following fund, donations ete. Calculate his

taxable income.

Payment towards Oriental Insurance Mediclaim
(paid in cheque) — Rs. 5,000

Pension fund for LIC — Rs. 5,000

5 D 1579



Rajiv Gandhi Foundation — Rs. 15,000

Gujarat Earthquake Relief Fund — Rs. 20,000
Prime Minister's Drought Relief Fund — Rs. 50,000
Jawaharlal Nehru Memorial Fund — Rs. 22,000
Towards repair work for temple - Rs. 45,000

His gross total income includes long-term capital
gain — Rs. 2,00,000,

Discuss the provisions of the Income Tax Act
related to set-off and carry forward of losses.

What do you understand by assessment of income
tax and explain the various types of assessment?

OO
$ .
@\S
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